CLLLX YL




e CURVIC
P2 COURLING

e

» Feature

Accurate and precise centering

The curvature of the teeth enables unique self-centering feature. One member
cup type grinding wheel to form a concave-shaped tooth. The mating member is
ducing a convex-shaped tooth. Both parts of the coupling are ground to ensure that
The coupling has the advantages of accurate alignment and precision centering whenevet

theyare in mesh.

High indexing accuracy of £2 sec of arc.
This such high accuracy is achieved by the precise self centering feature of the wide spread tooth con
over all the teeth.

High wear resistance

High grade case hardened steels are used to manufacture the couplings. The teeth are first cut, hardened to HRC 60 and
then accurately ground. This gives a high level of durability to the precision tooth profile, which means that the coupling
retains its high accuracy characteristic over a long period of use.

» Teeth Viewed at the Outside Diameter




» Shape of Tooth
2PCC

» Product a classified list

Assortment Outside, Number of Tooth, a Use

- Outside: 30~e40 - Tooth: 20~24

MINI size Type CURVIC COUPLING Stability, Accuracy importance Stability 70% more than,

Small precision instrument is applied in field TURRET CHANGER, WORK is used by exchange purpose.
-Type NO : Number of Tooth-Outside Dia - Inside Dia

- Outside: @100~0600 - Tooth :20~720

General Type CURVIC COUPLING. Machining Center of Index Table Stability Accuracy importance

NC LATHE Turret, Pallet Changer a use. Small precision instrument is applied in field TURRET CHANGER
~Type NO : Number of Tooth-Outside Dia - Inside Dia

- Qutside: 0700~p1000 - Tooth :72~720

Large size Type CURVIC COUPLING. Large size Machining Center or Machine On division position decision
use. Have a many of setexchanges and is not many in case use on side

-Type NO : Number of Tooth-Outside Dia - Inside Dia

- Outside: 0160~0280 -Tooth : 24~60

Another Form Type CURVIC COUPLING. Inside Dia can enlarge and CLAMP CYLINDER diameter enlarge
can. A Large size TURRET a use.

-Type NO : Number of Tooth-Outside Dia - Inside Dia-max Outside Dia

-Outside: @100~@600  -Tooth: 20~720

Input angle 15 That have being special teeth CURVIC COUPLING 30 more Occasion Limiting in Clamp
power or use to detailed clutch that deliver rotational motion

-Type NO : Number of Tooth-Outside Dia - Inside Dia

- Outside: 110~0820 Tooth :24~720

3PIECE CURVIC COUPLING. When rotate is used in case rotate WORK of heavy without rising.
SET exchange is principle and compatibility is less than 2PCC

-Type NO : Number of Tooth-Outside Dia - Inside Dia

» List of Product Mtype ll Stupe " Wtuype W Ttupe W
) )

6
0
4
6
o
&
0
o
&
6
0

GO0
00

800

900

000
00
00
00

10
12
20
24
30
32
36

48

72
360
720




High precision measurement

Long term quality assurance is provided by a
secure quality control of entire products

» Quality control procedures

ITEM Super Accuracy NOTE

At the W Tooth mating state is brought into contact with the
numberofteeth | More than 80% | More than 90% ) standard master curvic coupling. The standard teeth
Tooth (B.N) @ contacting length should be above 50% of teeth length.

Contact Throughout the whole teeth, two adjacent teeth should
Atthe face width not be disconnected. More than 80% if teeth surface
More than 50% | More than 50%
Bh:Mumber %
(B.W) o \:ﬂ”;th {k.‘ should contact evenly.
Run outon top 0.02 0.01
face ' : ; , - : .
RO 00r oo The run out is checked by light mating with master curvic coupling
Tooth outside diameter i ’
coupling ]
Indexing Accuracy 5" 3 4-Division accumulate maximum error
Coupling 4010 40,05 The combined thickness of matedrnconvex and hconcave teeth is
Thickness - - marked as in the standard dimension table.

» High precision measurement

1. Allowable level load : F
P(D1/2)
TR

2. Allowable perpendicular load : W
_P-(D172)
W=r o129

3. Circular component of force : N (kg)
N=Ptan60°

3. Allowable TORQUE : T (kgf mm)
T=Ptan60°-(DM/2)=N - (DM/2)

- Accuracy 5.0"
- Super Accuracy 3.0"

5"

SII

150 100 0 . e =

Distance from the center

Curvic Coupling

Because it can receive enough hardness and big clamp force at Machining Center of Index Table. High Torque s suitable by power
transmission purpose Curvic Coupling's Allowable load differs according to size.

Allowable Cutting Load, Allowable Torque, and Force Clamp is calculated and decided according to it's usage



2PGG

/IC .J'J,JHNJ



- With the small teeth
2 p G G - It has simple structure
*High accuracy used to dowel

2Pieces Curvic Coupling - Customized manufacturing for specific purpose is available.

- - ik .
Model No. Nomber Outside ~ Inside  2PCC
ofteeht  piA DIA,

Fired boit hole LWithdraw bolt hale

» Specification

= g = | A = o

2 Eg 2 £ 21 S g

§ i1 & ¢ - ]

N F Ha Na PCD K d4 a
1 |0605022XV | 6 |49 |22 |50 | 5 [1050| 8 | 20| 4|34 | 42 |8 |6 |4|32|45 |6]-|- | - |050|045
2| 05036XV | 6 |49 |36 |50 |6 |1280| 10 | 24| 6|48 | 42 |8 |68)|6|44 |30 |6|-| - | - |os0|072
3| 08044XV | 6 |79 |44 |80 |8 [1530| 12 | 29| 6|60 | 66 |11 (88455 |30 |6]-| - | - |080|072
4 10040xV | 6 |98 |40 |100| 9 |1837| 14 | 34| 6|60 | 66 |11 |(6) |3 |60 |30 |8 |2|60 |M8x125]137|123
5| 12060XV | 6 |118| 60 |120 |10 [1875| 14 | 34| 6|80 | 66 |11 |(6) |3 |80 |30 |8 |2|80 | Méxi |1.75|155
6 | 14080xv | 6 |138 |80 |140 |10 |1875| 14 | 34| 6/100| 66 |11 |(6) |3 [100|30 |8 |2[100| Mex1 |175]155
7 | 160-100XV| 6 |158 100 |160 | 10 [21.75 | 165 | 40| 8 |118 |M&.5| - | - | 3 118225 | 8 |2 [118 |M8x125 | 1.75 | 1.55
8 | 180-120XV | 6 |178 120|180 |10 [21.75 | 165 | 40| 8|140 | 9 |14 | (8 |3 140|225 | 8 |2 [140 [Mex125 175 | 1.55
9 | 210135XV| 6 |208]135|210 |12 2175|165 | 40| 12| 165 |M&xi2s| - | - | 3|158| 15 |10]2 [ 165 | M8x1.25| 175 155
10 [08:05022XV | 8 | 49 | 22 | 50 1050| 22 | 20| 4|34 | 42 |8 |@©|4|32]45 |[6]-| - | - 050|045
11| 06336Xv | 8 |62 36|63 | 6|1280| 10 | 24| 6|48 | 42 | 8 |68 6|44 |30 [6]|-| - | - [oso[on
12| 08044XV | 8 | 79 | 44 | 80 | 8 |1530| 12 | 29| 6| 60 | 66 |11|@8)| 4|55 |30 |6|-| - | - |o080]o072
13| 10040xv | 8 |98 |40 |100] 9[1837| 14 | 34| 6| 60 | 66 |11|(6)| 3|60 | 30 |8 2] 60 |mex125]137] 123
14| 12060xv | 8 [118| 60 |120]10]1875| 14 | 34| 6|80 | 66 |11|(6)] 3|80 |30 |8]2]80 | mex [175] 155
15| 14080XV | 8 |138| 80 | 140|10|1875| 14 | 34| 6|100| 66 |11|(6)| 3|100| 30 |8 |2|100| Mex1 | 175] 155
16| 160-100xv| 8 |158|100]160 [ 10 |2175| 165 | 40| 8| 118 [Mexizs| - | - | 3]118]225 |8 |2|118 | mex125] 175 155
17| 180-120xv| 8 [178[120[180 [ 102175 165 | 40| 8[140| 9 |14 (8| 3]140/225 8 |2]|140 | msx125] 175|155
18| 210135xv| 8 |208135]210]12]2175| 165 | 40| 12| 165 |Mexizs| - | - | 3[158] 15 [10]2[165 | mex1.25] 175] 155
19 [1005022xv | 10 [ 49 | 22|50 | 5 1050| 8 | 20| 4|34 | 42 [8|(6|4[32]456|-| - | - [o50045
20 06336xv | 10| 62|36 |63 | 6 [1280] 10 | 24| 6|48 | 42 | 8 |68 6|4 |30 |6]-|-| - |oso|or
21| ogo4axv | 10|79 | 44 | 80 | 8 [1530] 12 | 20| 6|60 | 66 |11|@8) 4|55|30 |6|-| - | - |oso|or
22| 10040xv | 10| 98 | 40 [100| 9 [1837] 14 | 34| 6|60 | 66 |11|(6)| 3|60 | 30 |8 |2] 60 | M8125|137]13
23| 12060xv | 10 | 118] 60 [120 | 10[1875| 14 | 34| 6|80 | 66 | 11|(6)| 3|80 |30 |8|2| 8 | Mex1 | 175|155
24| 14080xv | 10 |138] 80 | 14010 [1875] 14 | 34| 6[100| 66 | 11| (6| 3]100] 30 |8 [2|100] Mex |175]155
25| 160-100xv| 10 | 158|100 | 160 | 10 [2175| 165 | 40| 8| 118 |Meai2s| - | - | 3|118[225 |8 |2 118 | Mex125| 175|155
26 [ 180-120xv| 10 | 178[120[ 180 [ 10 [2175| 165 | 40| 8[140| 9 [14| (8| 3[140(225|8 2140 | mex125|175] 155
27| 210135xv| 10 |208[ 135210 [ 122175 165 | 40| 12] 165 [Mexizs| - | - [ 3[158] 15 [10]2 165 | mex125]175] 155
28 [1205022XV | 12|49 | 22 |50 | 5 |1050| 8 | 20| 4|34 | 42 |8 |6 43245 |6|-| - | - |050] 045
20| 06336XV | 12|62 |36 |63 | 61280 10 | 24| 6| 48 | 42 | 8 |68) 6|44 |30 |6|-| - | - |080]072
30| osoaaxv | 12|79 |44 |80 | 8 [1530] 12 | 20| 6|60 | 66 |11]@8) 4|55]30 |6]-| - | - |os|on
31| 10040xv | 12| 98 [ 40 [100] o [1837] 14 [ 34| 6|60 | 66 |11](6)|3]60| 30 |8 2] 60 |Mec125]137] 13
32| 12060xv | 12| 118] 60 [120 [ 10[1875] 14 | 34| 6|80 | 66 [11](6)| 3|80 |30 [8]2]80 | mea [175]155
33| 14080xv | 12138 80 [140 10 [1875] 14 | 34| 6[100| 66 |11 (6)| 3]100] 30 |8 [2[100] Mex1 |175]155
34| 160-100xv| 12 | 158 100|160 |10 [2175| 165 | 40| 8| 118 Meazs| - | - [ 3]118]225 |8 [2|118 | Mex125|175] 155
35| 180-120xv| 12 | 178 120|180 | 10 [2175| 165 | 40| 8[140| 9 |14 | (8| 3|140] 2258 |2 140 | mex125|175] 155
36| 210-135XV| 12 | 208 | 135|210 | 12 [2175| 165 | 40| 12| 165 |M8x125| - | - | 3|158| 15 |10|2 165 | M8x125| 1.75| 155

- The sizes shown above are the standard sizes and it can be customized.



Fixed in Body .l"I

» Specification

lodel NO.

= Ylaa] o fagquny

HiT BpIsIng

g apisy)

Hi0 8pisIng

gyoud (isap

T ssauraiyl pus dop

& sseuHolIap|sy)

SSauralLy eioi

‘HiOspisyY

SOy Joaquny

Fixed boit

hole

8|0y Jo3dag

S8|aLy josqunn

Model No.

Positioring pin hale

0ad

030 - 12 XV
Mumber Uutside  Inside Pl
ofteeht  pla, DIA

Wiehdraw bolt hole

sl Jo laquiny

o
0o
=

puadol joyady

pua doj yayd
40 Bauema)y

di F Na PCD dh NbPCD K n a tA
37 120-:030-12XV | 20 |29 |12 |30 |3 |730 | 55 | 144|120 | M5| - | - 2|19 |45 |@e2 4|20 | M5x08 | 03 |027
38| 063-36XV |20 |62 |36 |63 |6 (1280|100 | 24 | 6|48 | M5| 80 |68 |4 |44 |30° 6|48 | M5x08 | 0.8 |0.69
39| 080-44XV |20 | 79 |44 |80 | 8 |1530|120 | 29 | 6|60 | M8 | 11.0|88 |4 |55 |30° 6|60 M8x1.25| 0.8 |0.69
40| 100-40XV |20 | 98 |40 |[100 | 9 (1837 (140 | 34 | 6|60 | 66 | 11060 |3 |60 |30° [8 |2 |60 |MBx125|137 [1.22
412405022V | 24 | 49 | 22 |50 |5 |1050| 8.0 | 20 | 4|34 | M5 | 80 |60 (4 32 |45 4134 | M5x08 | 05 (042
42| 063-36XV |24 |62 |36 |63 | 6 (1280|100 | 24 | 6|48 | M5 | 80 (68 |4 |44 |30° 6|48 | M5x08 | 0.8 (069
43| (0B044XV |24 |79 |44 |80 | 8 (1530 (120 | 29| 6|60 | M8 | 11.0(88 |4 |55 |30° 6|60 |MBx1.25| 0.8 |0.69
44| 12060XV | 24 (118 | 60 [120 | 8 |1830 | 140 | 34 | 6|80 | 66 | 11.0]6.0 |3 |80 |30° |8 |2 |80 [M8x125| 13 |1.15
45| 140-80XV |24 |138 | 80 140 | 9 (1859 (140 | 34 [ 6 /100 | 66 | 11.0|6.0 |3 [100|30° [8 |2 (100 |M8x1.25 | 1.59 [142
46 | 160-100XV | 24 158 | 100 (160 | 9 |21.73 | 165 | 40 | 8 (118 | 90 | 14.0|8.0 |3 (118 |225°|10 |2 {118 |M8x1.25 [ 1.73 |1.54
47 | 180-120XV | 24 |178 |120 [180 | 9 (2161 [ 165 | 40 | 8 (140 | 90 | 140|80 |3 [140(225°( 8 |2 (140 |MBx125 | 161 144
48 | 200-120XV | 24 |198 |120 [200 | 9 |2163 | 165 | 40 | 8 |150 | 90 | 140(8.0 |3 |150|225°| 8 |2 |150 |M8x1.25 [ 1.63 (145
49 | 210-135XV | 24 |208 | 135 (210 |12 (2171 | 165 | 40 [12|165 | 9.0 | 140(8.0 |3 |158|15° |10 |2 |165 |M8x1.25 [1.71 (153
50 | 250-160XV | 24 |248 |160 (250 | 11 |2142 | 165 | 40 | 8 |195 | 11.0 | 175(10.0 |3 [195 [225° (10 |2 |195 | MIOx150 | 142 [1.27
51 {30-100-40XV | 30 | 98 |40 |100 | 7 (1830|140 | 34| 6|60 | 66 | 11.0|60 |3 |60 |30° 260 |M8x125]| 13 |115
52 120-60XV | 30 (118 | 60 |120 | 7 |1856 | 140 | 34| 6|80 | 66 | 11060 |3 |80 |30° 2|80 |M8x125|159 (139
53 |32-120-60XV | 32 (118 | 60 |120 [ 11 (1846|140 | 34 | 6 |82 | 66 | 11.0|6.0 |3 |82 |30° 2|82 |M8x1.25|1.46 (130
54 136-140-80XV | 36 138 | 80 |140 [ 11 |1852 | 140 | 34 | 6 [100 | 66 | 11.0|6.0 |3 |100 | 30° 2 |100 |MBx1.25 | 1.52 [1.36
55 160-100XV | 36 |158 [ 100 |160 | 9 (2173 | 165 | 40 | 8 |118 | 90 | 140 (8.0 |3 (118 [225°|10 |2 |118 |M8x1.25 | 1.73 |1.54
56 180-120XV | 36 |178 [120 | 180 | 9 |2137 | 165 | 40 | 8 |140 | 9.0 | 140|8.0 |3 (140 ({225°| 8 |2 |140 |M8x1.25 [ 137 |1.22
57 | 200-120XV| 36 |198 (120 |200 | 11 |21.52 | 165 | 40 | 8 |150 | 9.0 | 140|8.0 |3 {150 [225°| 8 |2 |150 |M8x1.25 | 1.52 |1.36
58 |40-140-80XV | 40 (138 | 80 | 140 (11 (1837 | 140 | 34 | 6 |100 | 66 | 11.0{6.0 |3 {100 |30° | 8 |2 |100 |M8x1.25|1.37 |1.22
59 160-100XV | 40 |158 [ 100 | 160 | 9 |2156 | 165 | 40 | 8 |118 | 90 | 140|8.0 |3 {118 [225°|10 |2 [118 |[M8x1.25 | 1.56 |1.39
60 180-120XV | 40 (178 {120 |180 | 9 (21.76 | 165 | 40 | 8 | 140 | 9.0 | 140 |80 |3 |140|225°| 8 |2 (140 |MBx1.25 | 1.76 |1.57
61 200-120XV | 40 | 198 |120 (200 | 9 |2137 | 165 | 40 | 8 [150 | 9.0 | 140| 80 |3 |150 |225° | 8 |2 | 150 |M8x1.25 | 1.37 |1.22
62 | 250-160XV | 40 |248 (160 [250 | 13 |21.71 | 165 | 40 [ 8 [195 | 11.0| 175]10.0 |3 [195 |225° 10 (2 | 195 | MIx150 | 1.71 |1.53
63 [48-210-135XV | 48 |208 | 135 (210 | 13 |21.71 | 165 | 40 [12]165 | 9.0 | 140|80 |3 |158| 15" (10 |2 |165 |M8x1.25|1.71 |153
64| 250-160XV | 48 248 | 160 (250 | 11 |2142 | 165 | 40 | 8 |195 | 11.0| 17.5(10.0 |3 |195|225° (10 {2 | 195 | MIx150 | 142 |1.27
65| 280-190XV | 48 |278 | 190 |280 | 13 {2159 | 165 | 40 | 8 [222 | 13.0| 20.0|12.0 |3 |222 |225° |10 |2 |222 | M1x150 | 1.59 (142
66 |  320-210XV | 48 |318 |210 (320 |11 |30.82 | 255 | 58 | 12/258 | 13.0| 200(12.0 |3 |258 | 15° |12 |4 |258 | M12x175 | 1.82 |1.62
67 | 400-280XV | 48 |398 | 280 (400 | 13 {3152 | 26.0 | 60 [ 12|335 | 13.0| 20.0|12.0 |3 |335|15° |12 |4 |335 | M12075 | 152 (136
68 | 520-415XV | 48 |518 (415|520 | 15 {3197 | 26.0 | 60 | 12]450 | 13.0| 20.0|12.0 |3 (450 | 15° |12 |4 |450 | M12175 | 1.97 |1.76
69 [60-250-160XV | 60 |248 | 160 (250 | 9 |21.63 | 165 | 40 | 8 [195 | 11.0| 175|10.0 |3 [195 |225° |10 {2 | 195 | M1x150 | 1.63 |145
70| 280-190XV| 60 [278 | 190 |280 |11 (2682 | 215 | 50 | 10|224 | 11.0| 175|100 |3 |222 [ 18" |10 |2 |224 | MIOx150 | 1.82 |1.62
71 320-210XV | 60 |318 |210 {320 | 11 {3046 | 255 | 58 [10(258 | 13.0| 20.0(12.0 |3 |258 | 18" |12 |4 |258 | M1Xx1.75 | 146 |1.30
72| 360-250XV| 60 |358 | 250 |360 |13 |3064 | 26.0 | 58 | 12300 | 13.0| 200 (12.0 |3 {300 | 15° |12 |4 [300 | MIX175 | 1.64 |1.46
73 | 400-280XV | 60 |398 |280 |400 | 15 [31.82 | 26.0 | 60 | 12335 | 13.0| 20.0(12.0 |3 {335 15° |12 |4 |335 | MIX1.75 | 1.82 |162

- The sizes shown above are the standard sizes and it can be customized.




- It is simple
2 p G G ' It is easy to use with division devices for normal purpose.
- It gives you an advantage of ercellent inter change ability.

2Pieces Curvic Coupling - Customized manufacturing for specific purpose is available.

40 320 - 120 _ XV
o . Model No. fg%.ltrggﬁtr Outside ~ Inside .~ 2PCC
» Specification DA DIA

Withdrau bait Hole
e T 1 = B

e
&5

N Mogelng.

ssaUaL eI0]
Josauemojy.

puado: yo yolid
puedos Uoad

sy Jo Jagn

& ssawpyapsy)

=

o o g
T
= = .
= I §
w

DI Hi

= Ujdal o aguiny

74 |60-600-415XV | 60 |598 |480 (600 |15 [36.95 | 290 | 70 |12|530 | 170 260|160

103|  1000-830XV |360 998 |830 |1000 |22 |60.95 | 545 | 120 |18 900 | 170 1260|160
104|  1100-900XV |360 {1,098 |900 (1,100 | 22 |66.05 | 59.5 | 130 [ 20(980 | 21.0 320|200
105|720-800-660XV 720 | 798 | 660 (800 |19 (3795|320 | 75 (18 (710 | 170 260|160
106/  1000-830Xv |720 (998 | 830 |1000 |22 |60.57 | 545 | 120 |18 900 | 170 (260160 900 | 10° | - 900 | M12¢175 | 095 |0.82
107/ 1100-900XV 720 {1,098 |900 (1,100 | 22 |65.66 | 59.5 | 130 [ 20(980 | 21.0 1320|200 980 | 9° | - 980 | M16x200 | 1.05 |0.91
108  1200-1000XV | 720 (1,198 1,000(1,200 | 22 |71.14 | 645 | 140 | 20(1.080 | 21.0 (320|200 |4 [1.080| 9° | - |4 |1080 | MI6x200 | 1.14 |0.98

-The sizes shown above are the standard sizes and it can be customized.

900 | 10° | -
88097 | =
710 | 10° | 14

900 | M1x175 | 095 |0.82
980 | M16x200 | 1.05 |0.91
710 | Mix175 | 0.70 |0.68

n
31530 | 15° (12 |4 [530 | MIX175 | 195 |1.74
75 |72-200-120XV | 72 | 198 | 120 (200 | 9 |2099 | 165 | 40 150 | 90 [14.0|80 |3 |150 |225°| 8 |2 |150 |M8x1.25 | 0.99 |0.89
76 | 250-160XV | 72 |248 | 160 (250 |11 (2142 | 165 | 40 195 | 11.0 |17.5]100 |3 |195 [22.5°| 10 |2 |195 | MIOx150 (142 |1.27
77| 280-190XV | 72 |278 | 190 (280 |11 |2142 | 165 | 40 | 8 |222 | 130 200|120 |3 |222 |225°| 10 |2 |222 | M10x150 | 142 |1.27
78 | 320-210XV |72 |318 |210 (320 |11 |[30.74 | 255 | 58 |12 (258 | 130 1200|120 |3 |258 | 15° |12 |4 |258 | MiX175 | 1.74 |1.55
79| 360-250XV | 72 |358 |250 (360 | 11 3037 | 260 | 58 |12{300 | 13.0 120.0(120 |3 [300 | 15° | 12 |4 |300 | MI2175 | 137 |1.22
80 | 400-280XV | 72 |398 |280 |400 |13 [31.52 | 260 | 60 |12335 | 130 [200(12.0 |3 |335|15° | 12 {4 335 | MI2175 | 1.52 |1.36
81| 420-320XV |72 |418 |320 (420 |13 |31.59 | 260 | 60 | 12360 | 130 1200|120 |3 |360 | 15° | 12 |4 |360 | MIX175 | 1.59 |142
82| 450-340XV | 72 |448 |340 |450 |15 [31.71 | 260 | 60 |12 387 | 13.0 (200120 |3 (387 | 15° | 12 {4 387 | MI2175 | 1.71 |1.53
83| 520415XV |72 |518 |415 520 |15 [31.97 | 260 | 60 |12 (450 | 130 1200|120 |3 |450 | 15° |12 |4 |450 | MiX175 | 1.97 |1.76
84| 600-415XV |72 |598 |480 (600 |19 [37.28 | 290 | 70 12530 | 170 [260(16.0 |3 |530 | 15° | 12 |4 |530 | MIx175 | 2.28 |2.04
85| 700-560XV |72 |698 |560 (700 |19 [36.70 | 290 | 70 |12 (610 | 170 1260|160 |3 |610 | 15° | 14 |4 |610 | MIx175 | 1.70 |1.50
86| 800-660XV |72 |798 |660 (800 |19 [39.20 | 320 | 75 |18|710 | 170 1260|160 |3 |710 | 10° | 14 |4 |710 | M1x175 | 1.70 |1.50
87| 900-740XV |72 |898 | 740 (900 |21 [41.70 | 345 | 80 |18 (800 | 170 260|160 |3 10° |14 14 |800 | M1x175 | 1.70 |1.50
88| 1000-830XV | 72 |998 | 830 1000 |22 |61.70 | 545 | 120 |18 |900 | 170 260|160 {4 |900 | 10° | - |4 |900 | MIx175 | 1.70 |[1.50
89| 1100-900XV | 72 |1,098|900 (1,100 | 22 |66.70 | 59.5 | 130 |20 |980 | 21.0 320|200 |4 9° | - |4 980 | MI6x200 |1.70 |1.50
90 | 1200-1000%v | 72 |1,198(1,000 1200 | 22 |71.70 | 645 | 140 |20 1.080| 21.0 320|200 |4 |1080 | S | - |4 |1080 | M16x200 | 1.70 |1.50
91| 1300-1100%V | 72 |1298(1,100 1300 | 22 |76.70 | 695 | 150 |24 1.170| 21.0 (320|200 |4 |1170 | 757 | - |4 |10 | M16x200 | 1.70 |1.50
92 |360-280-190XV 360 |278 | 190 |280 | 8 |2035| 165 | 40 | 8 (222 | 130 200|120 |3 |222 |22.57| 10 |2 |222 | M10x150 | 0.35 |0.30
93 320-210XV |360 |316 |210 (320 | 8 |29.35| 255 | 58 | 12258 | 130 (200|120 |3 |258 | 15° |12 |4 |258 | Mix175 | 035 |0.30
94 360-250XV |360 | 358 | 250 (360 |10 [29.39 | 260 | 58 |12 (300 | 13.0 200(12.0 |3 |300 | 15 |12 |4 |300 | Mix175 | 039 |0.35
95 400-280XV |360 | 398 |280 |400 | 13 |3045 | 260 | 60 |12 {335 | 13.0 200120 |3 |335 | 15" |12 |4 |335 | MI175 | 045 |0.39
96 420-320XV |360 | 418 320 |420 |13 |3045 | 260 | 60 |12{360 | 13.0 200|120 |3 |360 | 15" | 12 |4 |360 | MI12c175 | 045 (039
97 450-340XV |360 | 448 |340 |450 |15 |3049 | 260 | 60 |12 (387 | 13.0 [20.0 (120 |3 |387 | 15" |12 |4 |387 | MI175 | 049 (042
98 520-415XV |360 | 518 |415 |520 |15 [30.57 | 260 | 60 |12 (450 | 130 [200(120 |3 450 | 15° | 12 |4 |450 | Mix175 | 0.57 |049
99 600-415XV |360 | 598 480 |600 |15 |3566 | 290 | 70 |12|530 | 170 260160 |3 |530 | 15" |12 |4 |530 | MIZ175 | 066 (0.57
100{  700-560XV |360 (698 |560 |700 |19 (3567 | 290 | 70 | 12610 | 170 {26.0(160 |3 |610 [ 15° |14 |4 610 | MIX175 | 067 |0.58
101|  800-660XV |360 798 |660 |800 |19 (3826 | 320 | 75 |18|710 | 170 (260160 |3 |710 [ 10° |14 |4 (710 | MIX175 | 0.70 |0.68
102 900-740XV |360 | 898 | 740 [900 |21 |40.98 | 345 | 80 {18 |800 | 17.0 260|160 |3 |800 | 10° | 14 |4 |800 | Mi2175 | 098 |0.88

4 4

4 4

3 4

4 4

4 4




3PCC

urvic _J__J’J]_jj“l;]



* The index table does not need to be lifted
3 p G G *Machining heavy works are possible

‘It is preventable for chips to enter into the index table.
3Pieces Curvic Coupling : Customized manufacturing for specific purpose is available.

Positioning /1 VO by vertical movement

- : B -
Model No. 3PCC T Number Outside ~ Tnside
of teeth DIA. DIA

Flred boit hole Positioning pinhiole  Withdraw bolt hole
b0 §
=

» Specification

‘HigapEng

‘HigapEng

i Apis

Lpaay jo
SsaUyolLE puadol

‘IO EpIsy)

pua do3 yoyd

jo 8auemaly

Model NO.

= 388} J0 Jaguin

&L ssaukaly spsu
SSALYDIL (2101
a0y Jo iy
pLia a3 Jo Y3l

S ey o vadg

D2 di 1 H3 K 4 n P a A

) — vix| 24 [110] - | 40| 14 [1675| 115|30] 6 | 60 |66 11 [60[3] 60 [30°[8] 2 | 60 | Max1.25]1.75] 155
vo |24 | - [170] - | - [1675|115(30] 8 | 140 [M10] 14 | 85| 3| 1402259 8| 2 [140|mex125|175] 155

|vix| 24 [135 | - [ 60| 181875/ 135[34] 6 | 80 [66] 11 [60|3] 80 [30°|8| 2 | 80 |Mexizs|175] 15

2| 060 e | - [ars| - | - 1875| 135|348 8 | 150 [m10| 14 | 85 |3 | 150 2259 8| 2 | 150 |Maxizs| 175] 155
B — ViX| 24 [165 [ - | 80| 20 [2075[155[38| 6 [ 100 [66 | 11 [60[3] 100]30° 8] 2 [100|Mex12s|175] 155
vo |24 | - |220] - | - [2075|155(38 | 8 | 195 |M12][17.5]105] 3 | 195 |22.5¢(10] 2 | 195 |[Mrox1.50] 175 155

ol spgggee|VIX| 24 200 | - [1200 20 |2175 165 40| 8 | 140 |90 | 14 80 [3 | 140 (2257 8| 2 140 | MBA25| 15 155
Vo |24 | - |255| - | - |2175]165]40 | 10 | 224 |M12]17.5]105] 3 | 224 | 182 [10[ 2 |224 |Mr0x1.50] 175 155

o | yzguzge| VX[ 20 (20| - [135) 22 (2175|165 40| 12| 165 | 90| 14 |80 |3 | 165 | 15° 10| 2 | 165 | MeA125| 175 155
Vo |24 | - |200] - | - |2175|165]40 | 12 | 258 |M12]17.5|105( 3 | 258 | 150 |12 2 |258 |M12a175| 175 155

o | 270600 vix| 24 [270| - |1e0| 24 [21.75 | 165(40] 8 | 195 [11.0[17.5]100] 3] 195 [225°[10] 2 [195 [mrox150] 1.75] 155
vo| 24| - |330| - | - |2175|165]40] 12 | 300 [m14] 20 [125]3 ]300 15° [12] 4 300 M12a7s|175] 155

osot100a0| VX 30 10| - 14 [1640| 115(30| 6 | 60 |66 | 11 [60|1] 60 [30°[8] 2 | 60 |Mea125| 14| 126
i vo |30 | - [170] - | - |1640|115|30| 8 | 140 [M10| 14 | 85| 1| 140 [225°| 8| 2 |140 | Mex125| 14 126
ol s ViX| 30 [135| - | 60| 18(1875(135]34| 6 | 80 |66 11| 65| 1| 80 |30°(8| 2 | 80 | M8x1.25| 175] 155
Vo | 30| - |175| - | - [1875|135]34| 8 | 150 [M10| 14 | 85 |3 | 150|225 8| 2 |150|Msx1.25| 1.75| 155

. res.ogoee| VX[ 30 | 165 | - | 80| 20]2075| 155/ 38| 6 | 100| 66| 11| 60|13] 100| 30°| 8| 2 |100| MeA125)| 175 155
Vo |30 | - [220| -| - |2075|155|38| 8 | 195 [M12|17.5|105| 3| 195 [22.50(10] 4 | 195 [M10x1.50 1.75] 1.5

soozoee| V1X| 30 [200] - [ 120 20 [2175[ 165 [0 8 | 140 90| 14 | 80| 3] 140 (22598 2 [140[Mgaias| 75| 155

' vo |30 | - [255] -| - |2175| 165| 40| 10| 224 [M12| 17.5|105] 3| 224 | 18 |10] 2 | 224 [M10x1.50] 1.75] 155

- The sizes shown above are the standard sizes and it can be customized.



» Specification

Maodel ND.

= (e o aguiny

(4 ]
=
7
=%
i)
=
b

‘Hio=pisang

ajyoud thaay

SsEU4aL] pUs do]

SSEUHIIL Bp|sU|
&5 ssaudal |e3nl

Z S8 0 By

Fined bolt hole

B

Mode! No.

Positioning pin hole

B0U 0 o Jaauryy

0 360 250 - 180
3PCC Mumber Outside  Inside
ofteeth  DIA, DIA.

75 Bjpyp ajbuy

‘HioeeH

ETE
Jomquny

Withdraw bait hole

gad

L3897 o gadg

pua o1 Jo yaug

Jo-sausmajy

e dog yayd

F 2 | Cl n P Mxp  a A

5 301354 V1,X| 30 | 230f - |135] 22 | 2175|165 40| 12 | 165 | 90 |14 80| 3 [165| 15° |10| 2 | 165 | M8x1.25 |1.75 | 1.55
Vo | 30 = | -290] = - | 21.75|16.5) 40| 12 | 258 | M12 [17.5/10.5 3 258 | 15° [12| 4 | 258 |M12x1.75{1.75| 1.55

12 270160 VI X[ 30 |270| - [160( 24 (2175 [165/40 | 8 |[195 | 11.0 17.5/100| 3 (195 [22,5°(10 | 2 | 195 |M10x1.50 [1.75|1.55
VO |30 | - |330| - - |21.75|165/40 | 12 | 300 | M14 | 20(12.5| 3 [300 | 15" (12 | 4 |300 [M12x1.75 [1.75 | 1.55

13| 048335-220 V1, X| 48 | 335 | - [220| 24 | 2575|185 48| 12 | 258 | 13.0 | 20120 3| 258| 15° [12| 4 | 258 |M12x1.75| 1.75| 1.55
VO | 48 | - |400| - - |2575(185 48| 12 | 360 | 13.0 | 20125 3| 360| 15° |[12| 4 | 360 |M12x1.75| 1.75| 1.55

14 425300 V1, X| 48 | 425 | - [300| 28 |2675(195] 50| 12 | 335 | 13.0 | 20120, 3| 335| 15° |[12| 4 | 335 |M12x1.75| 1.75| 1.55
VO | 48 - | 482| - - |26.75(19.5/ 50| 12 | 450 | 13.0 | 20125 3| 450| 15° |12 4 | 450 |M12x1.75| 1.75]| 1.55

15 540-415 V1, X| 48 | 415 | - [415| 32 |29.25(225/ 55| 12 | 450 | 13.0 | 20125/ 3| 450| 15° |[12| 4 | 450 | M12x1.75| 1.75| 1.55
VO |48 | - |604| - - |29.25|225 55|12 | 570 | 17.0 | 26165 3| 570| 15° [12| 4 | 570 |[M12¢1.75| 1.75| 1.55

16| 060-335-220 V1, X| 60 | 335 | - [220| 24 | 2575|185/ 48| 12 | 258 | 13.0 | 20120 3| 258| 15° |[12| 4 | 258 |M12x1.75| 1.75| 1.55
VO | 60 | - |400| - - 2575|185/ 48| 12 | 360 | 13.0 | 20{12.5 3| 360| 15° |12| 4 | 360 |M12x1.75| 1.75| 1.55

17 425300 V1, X| 60 (425 | - |300| 28 |2675|19.5 50| 12 | 335 | 13.0 | 20|12.0] 3| 335| 157 |12| 4 | 335 | MI12x1.75| 1.75]| 1.55
VO | 60 - | 482| - - |2675(19.5 50| 12 | 450 | 13.0 | 20 (125| 3| 450| 15° 12| 4 | 450 | M12x1.75| 1.75] 1,55

18 540-415 V1,X| 60 | 540 | - |415| 32 | 2925|225 55| 12 | 450 | 13.0 | 20120 3| 450 15° |12| 4 | 450 | M12x1.75| 1.75| 1.55
VO | 60 - |604| - - |29.25(225/ 55| 12 | 570 | 17.0 | 26 (165 3| 570 15° [12| 4 | 570 [M12x1.75| 1.75] 1.55

19| 072335-220 V1,X| 72 | 335 220 24 |2575|185{ 48| 12 | 258 | 13.0 | 20120, 3| 258| 15° |[12| 4 | 258 |M12x1.75| 1.75| 1.55
Vo | 72 - |400| - - | 2575|185/ 48| 12 | 360 | 13.0 | 20125 3| 360 15° (12| 4 | 360 |M12x1.75| 1.75| 1.55

20 425-300 V1,X| 72 | 425 | - (300 28 [26.75|19.5/50| 12 | 335 | 13.0 | 20|12.0{ 3| 335| 15°|12| 4 | 335 |M12x1.75| 1.75] 1.55
Vo | 72 - | 482 - - |2675(19.5 50| 12 | 450 | 13.0 | 20(125] 3| 450 15° |12| 4 | 450 | M12¢1.75| 1.75] 1.55

21 540415 VI X| 72 | 540 | - |415| 32 [29.25|225/ 55| 12 | 450 | 13.0 | 20120, 3| 450| 15° |[12| 4 | 450 |M12x1.75| 1.75| 1.55
VO |72 | - |604| - - 129.25(225/ 55| 12 | 570 | 17.0 | 26 (16,5 3| 570 15° |12| 4 | 570 | M12x¢1.75| 1.75| 1.55

2 630-490 VI, X| 72 | 630 | - [490| 32 |31.75|245/ 60| 12 | 530 | 17.0 | 26140, 3| 530| 15° |[12| 4 | 530 |M12x1.75| 1.75| 1.55
Vo |72 | - |700| - - 3175|245/ 60| 18 | 660 | 17.0 | 26 (165) 3| 660 10° |12| 4 | 660 |M12¢1.75| 1.75] 1.55

23 820670 VI X| 72 | 820 - |670| 40 |39.25(285 75| 18 | 710 | 17.0 | 26 |14.0| 3| 710| 10° |[14| 4 | 710 | M12x1.75| 1.75| 1.55
Vo | 72 - | 890 - - 3925|285/ 75| 18 | 850 | 17.0 | 26 (16,5 3| 850| 10° |14 | 4 | 850 | M12x1.75| 1.75| 1.55

24 | 0360-250-180"* V1,X|360 | 250 | - (180 202 | 18 (40| 12 | 205 | 11.0 |17.5(10.0/ 3| 205| 15°|10| 2 | 205 |[M10x1.50| 0.2 | 0.17
VO |360 | - |300 8 | 202 | 18|40 12 | 270 | M12 (175105 3| 270 15° (12| 4 | 270 [M12x1.75| 0.2 | 017

25 270-160% V1,X(360 | 270 | - (160 10 | 202 | 18 | 40| 8 | 220 | 11.0 |17510.0| 3| 220(225°%10| 2 | 220 \M1Ox150| 0.2 | 017
VO [360| - [330 10 | 202 | 18 | 40| 12 | 300 | M14 | 20|125| 3 |300| 15° (12| 4 | 300 |[M12x1.75| 0.2 | 0.17

2% 335220 V1,X(360 | 335 | - (220 14 |2432|185/ 48| 12 | 258 | 13.0 | 20120/ 3| 258| 15° [12| 4 | 258 |M12x1.75| 0.32| 0.27
VO |360 | - |400 - |24.32|185[ 48| 12 | 360 | 13.0 | 20 (125 3| 360 15° (12| 4 | 360 |M12x1.75| 0.32| 0.27

27 425-300 V1,X|360 | 425 | - [300] 20 | 2542|195 50| 12 | 335 | 13.0 | 2012.0] 3 |335| 15° |12| 4 | 335 |M12x1.75| 0.42| 0.37
VO (360 | - |482 - |2542(195/ 50| 12 | 450 | 13.0 | 20 (125| 3| 450 15° [12| 4 | 450 |[M12x1.75| 0.42| 037

28 540-415 V1,X[360 | 540 | - (415| 24 [28.06|225| 55| 12 | 450 | 13.0 | 20{12.0] 3|450| 15° |12| 4 | 450 |M12x1.75| 0.56| 0.50
VO (360 | - |604 - |2806|225/55| 12 | 570 | 17.0 | 26 (16.5| 3 | 570| 15° |12 | 4 | 570 |[M12x1.75| 0.56| 0.50

3 630-490 V1,X|360 | g30 | - |490| 28 | 3067|245 60| 12 | 530 | 17.0 | 26 |14.0] 3 | 530 15° |12 | 4 | 530 |M12x1.75| 0.67| 0.58
VO (360 | _ |700 - |3067|245/ 60| 18 | 660 | 17.0 | 26 (165 3 | 660 10° |12 | 4 | 660 |[M12x1.75| 0.67| 0.58

30 | 0720-820-670 V1, X| 720|820 | - |670| 40 |37.92(285|75| 18 | 710 | 17.0 | 26 |14.0| 3| 710| 10° |14 | 4 | 710 |M12x1.75| 0.42| 0.37
VO |720| - |890 - |3792|285/ 75| 18 | 850 | 17.0 | 26 [16.5] 3| 850 10° (14| 4 | 850 |M12x1.75| 0.42| 0.37

- The sizes shown above are the standard sizes and it can be customized.







